A 1B

2021.07.25 (B)

17:32:12 P-1

wWav{uk -ena”  RAKEI V957

BBAE AV T A«

79h 1
2021 7 A 258 (A)
g 1z BRE % 79h |4y GROSS| HDCP | NET
1452 [RA ER 35 | 41 16 | 12.0 | 64.0|Ba
261 SR B 42 | 39 81| 14.0 67.0
3| IR XK 38 | 44 82| 14.0 68.0
AGL) AR PRI 39 | 4 80| 1.0 69.0
S| et B 39 | 43 82| 13.0 69.0
66L WF 1ERER 43 | 40 83| 12.0 | 71.0
161 ¥ 8K 43 | 41 84| 13.0 71.0
8| AH R 42 | 43 85| 13.0 72.0
O EH 4 39 | 44 83| 1.0 72.0
106z B & —3% 40 | 45 85| 13.0 72.0
114z =i —4%0 42 | 42 84| 1.0 73.0
1262 ZF T #H—ER 41 | 44 85| 12.0 | 73.0
136z /MEEJR SR 40 | 44 84| 1.0 73.0
1442 9 #8— 44 | 42 86| 12.0 | 74.0
156z [RE EE 43 | 43 86| 12.0 | 74.0
1662 R¥t Fth 42 | 43 85| 11.0 | 74.0
17z &&/I F 44 | 42 86| 11.0 | 75.0
186 B Adh 44 | 43 87| 12.0 75.0
194z) FBF il 44 | 46 90| 15.0 | 75.0
2061 #E BE 43 | 46 89| 14.0 75.0
2161 TH #E 43 | 46 89| 14.0 75.0
220s) H A& E— 42 | 48 90| 15.0 ] 75.0
2361 FIS F— 40 | 48 88| 13.0| 75.0
2461 BN AT 45 | 45 90 | 14.0 ] 76.0
251 fIER B 42 | 46 88| 12.0 | 76.0
261 BEfR B 48 | 43 911 140 71.0
211 ¢ RIE 46 | 44 90| 13.0 71.0
28| JKiE IERE 46 | 45 911 140 71.0
291 [REH & 45 | 471 921 15.0 71.0
304 B I 46 | 45 91 ] 13.0] 78.0
ML) KRR EX 43 | 48 91 ] 13.0] 78.0
3261 £ T H— 48 | 42 90| 11.0 ] 79.0
3361 Wl BT 46 | 46 92 13.0 79.0
34h =% IEFE 46 | 48 941 15.0 79.0
35| I HE 43 | 49 92 13.0 79.0
364 E MK 49 | 43 92 12.0 | 80.0
3| #i &X 48 | 45 93] 13.0 ] 80.0
384 At i 46 | 46 92| 12.0 | 80.0
39| B BURK 45 | 46 91 ] 11.0 ] 80.0
404z PFT FE 45 | 46 91 ] 11.0] 80.0
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4141 7% AR 44 | 48 92| 12.0 | 80.0
4261 SH HE 48 | 44 92| 11.0 | 81.0
4361 ¥TEH XK 48 | 45 93] 12.0 | 81.0
4| [R EERE 47 | 45 92| 11.0 ] 81.0
450| 1E/%  FRIE 51 | 45 96 | 14.0 | 82.0
4641 L {4t 49 | 45 941 12.0 | 82.0
416 == 82 47 | 46 93] 11.0 | 82.0
4841 IRA  Fz 41 | 41 94| 12.0 | 82.0
4941 AR —F& 47 | 41 94| 11.0 ] 83.0
50fz) E=r A 41 | 41 941 11.0 ] 83.0
S14L| IUF  f8&R 46 | 48 941 11.0 | 83.0
521 &k EBR 43 | 51 94 11.0 ] 83.0
53| LA A& 49 | 46 95| 11.0 | 84.0
5411 B Al 48 | 50 98 | 14.0 | 84.0
554 iR RiE 47 | 51 98 | 14.0 | 84.0
5641 K% ERA 47 | 52 99| 14.0 | 85.0
574z B2 5 52 | 41 99 | 13.0 ] 86.0
5841 =@ KAl 47 | 51 98 | 12.0 | 86.0
5941 £ = 58 | 46 104 13.0 | 91.0
606z FAH {EXER 51 | 54 105 11.0 | 94.0
61461 tHE & 52 | 57 109 14.0 ] 95.0




